SIRAUS IISID 3rofielol d UfdIgivr ufdug, At
aiffb socsfifSue udlstr - 2024

HiscT Ul U1
Model Question Paper
. - 3 TC ¢
DEII- 12 foreeT - refomast , quric- 80
. Time — 3 Hours «
Class-12 Sub. - Economics Full Marks- 80
AT foIS9r:-
o udlgmeff remisra sraol orscl 3 IA= S
Candidates should answer in their own words as much as possible.
o 13l st siforari 3l
All questions are compulsory.
o el Ul bl AT 52 3l
Total number of questions is 52.
* U] | A 30 AP IBADICUI U 3 | U U%I & AR faaeu fSu s1u 31 21él famcu o1
TRIo1 BISRI Ui Usl & feru 01 3ip forerifya 3
Question No. 01 to 30 are multiple choice questions, each question has four options. Select the correct
option. Each question carries 01 mark.
o U%I AIWAT 31 A 38 I 3ifel orE IriEka Ut 8 fS11a1 A {081 6 el 1 Itz Sotl siforart 3
U U DI ol 2 3ip forerifea 3
Question numbers 31 to 38 are very short answer questions. Out of which it is mandatory to answer any 6
questions. Each question carries 02 marks.
o U%I AR 39 A 46 D oIF IR U 3l FSRA A febodl 6 Uil a1 Itz ot siforart 31
URID U6l I 3Td 3 3ib forerifed 3
Question numbers 39 to 46 are short answer questions. Out of which it is mandatory to answer any 6
questions. Each question carries 03 marks.
o U] T 47 A 52 Sl FART Ut 31 fdbodl 4 Uil I IR Soll MfoTdRE 31 UId Ul BI
#1at 5 3icp forerifya 3
Question numbers 47 to 52 are long answer questions. It is mandatory to answer any 4 questions. Each
question carries 05 marks.
1. efaf@a # @ fond ash & FETU= & 39 A @ & a&g3i 1 iftead FHriad care

AT Y E2TTAT ST GohdT 87

Which of the following curve shows the maximum output combinations of two goods by using
optimum allocation of resources?

(a) GHICITE, IW@T (Isoquants)
(b) ATIT T (Demand Curve)
(c) $el 3cHIq dsh(Total Output Curve)
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(d) 3cUTET GHTGAT dgh(Production Possibility Curve)
2. T 7 @ foha 9T &1 FY cAfSe 7R F g7 FHel T J2A097 FId §U Tl fashed 1 7=
e

Which of the following question/s is/are related to Microeconomics? Choose the correct option by
using codes.

i, STGTR & TRy g T hiae T TTeRoT Ha g g2
How is price of a goods determined in a market?
i. U H Ty« o AU Ha g
How should resources be allocated in a country?
iii. e B T el AT TR FATE?
What is the total output level of a firm?
iv.  Ueh S H a3l T hiHA FAT a5l 82
Why do prices of goods rise in a country?
(a)i,iiandiv (b) i, iii, and iv
(c)ii andiv (d) I'and iii
3. oo & & ford sh1s & 39ATAAT & AT ST ThT 82
In which of the following units Utility can be measured?
(a) fReIIHTEX (Kilometres) (b) e (Litre)
(c) ATH (Gram) (d) 93T (Rupee)
4. e Tl T T HIaT T hTHT oller T HIeT 2 § ¢l 38 a&] bl HIIT GIaN-
If the elasticity of demand of a goods is 2 then the Demand of the goods will be-

(a) C‘I'\UﬁFI"’JITFﬂ?‘IZ‘(IT (Perfectly Elastic) (b) IR (Elastic)

(c) Q]ET(TEI?{IT (Zero Elastic) (d) sﬁ?lé'@lﬂ?ﬂ? (Unitary Elastic)
5. Teh SYHIFAT T HTAATH THISSE BT §| S/ AT & HTUR IR Teh SYHTFAT al aE371 & et
ISl H A ToheT SS6il T 3T gIITT?

The preference of a consumer is Monotonic. On the basis of this assumption a consumer will be
indifferent on which of following bundles of two goods?

A(3,4),B(6,7),C(1,2),D(52)

(a) Aand B (b) Aand C

(c)Aand D (d)Band D

6. o= H @ qeh TEJ31T I Teh 3CTER0T 8-
The example of complementary goods in the following -

(a) IR 3R ST (Tea and Coffee)
(b) FeTeT 3 TJTEY (Pen and Ink)
(c) Wﬁ??ﬁ (Pen and Shoes)

(d) {HIeell 3—T\Tﬂ<ﬂld-o1ld:|>o-l (Rasgulla and Gulab-Jamun)
7. HIHATI: U AT 3cUTE dsh &1 31K gldT g7
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Generally, the shape of Average Product curve is -

(a) Ueh I @M (A straight Line) (b) ‘U’ 3T &I ( ‘U’ shaped)
(c) M(Hyperbolic) (d) 3oc ‘U TP bl |(Inverted ‘U’ shaped)

8. AT T FEUR UfAther & 3cUTest Woled A Afe AT T GITAT Jef&r Y ST & oY ScureT H gefer --
-------------- gt

In the Production function showing constant returns to scale, if the factors are increased twice then
by how much the output will increase?

(a)43;I'UTI' (4 times) (b) 13;I'U'IT(1time)
(c) Z?TTTT(Z times) (d) 3?£UW(3 times)
9. faFafaf@d T # 3mad 0ABC 1 &A% FAT 2T & |
What does the area of rectangle OABC show in the following figure?

Y

Iraa R ana
Average Fixed Cost)
b

/‘tﬂ

. AR

3cqTEaT &I HTAT(Output)

(a)FelelldTd(Total Cost) (b) 3E STITT (Average Cost)
(c) 3iraa R arerg (Average fixed Cost) (d) Dol IF=iry oIl (Total Fixed Cost)
10. qUTSTAAEN SToTR # AT S H&T gl 8-
The number of firms in perfectly competitive Market is-
(a) 2 (b) 1
(c) 3TeY (Some) (d) 37T f&F (large number)
11. Teh QUTGTANe BaY o HJoleT T et olaT 7 A FleT-T 32
Which of the following are the conditions of equilibrium of a perfectly competitively firm?)
(a) MR=MC T&T MR dsh, MC d%h &l 39 H &I
MR=MC and MR curve cuts MC curve from the above.
(b) MR=MC T MR d%h, MC dsh &l il J &hIc
MR=MC and MR curve cuts MC curve from below.
(c) MR=MC TUT MC dsh, MR T I 39 & FHIC
MR=MC and MC curve cuts MR curve from the above.
(d) MR=MC 4T MC g%, MR d%h &l il J &hlc

MR=MC and MC curve cuts MR curve from below.

12. Teh T & S@RT a&] T hIHT H 10% T GG el I 3T Gfcl hl AT 15% &6 STl & off aE]
1 qfct gram-
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If the quantity supplied is increased by 15% due to an increment of 10% in the price of goods by a
firm, then the supply of goods will be-

(a) tj:USIFPIIT<_~|§I?.|'c\"IT(Perfectly Elastic) (b) smésﬂw (Unitary Elastic)
(c) Q]EIH’EI?CIT (Zero Elastic) (d) EICARS (Elastic)
13. [ @a e 31K FRUT S JI9 & Hid a1 [dheg Tgrg?
Which of the following options is correct regarding following assertion and reason?
HUT (A) : TR TE] I TS Y olaTed A e o et dsh STT 3R T AT 8 |

Assertion (A): The supply curve of a firm shifts towards left due to imposition of unit
tax on a goods.

HIROT (R) : TR ] I TS Y olaTed A o hT AT T 56 STl g |
Reason (R): Marginal cost of a firm increases due to unit tax on goods.
(a) A TErg oifeheT RITAT B
Ais correct but R is incorrect.
(b) A TSI g fheT REET B
Ais incorrect but R is correct.
(c) BT A 3R R TET & TAT R, T eI sATEATR |
Both A and R are correct and R is true explanation of A
(d) 1T A 3 R TEY & TAT R, HT LT ATEAT ST &
Both A and R are correct and R is true explanation of A.
14. ToRE aE T AT H Fef 1ol § TJ Tl PIHT I FIT F1d IS &2
What is the effect of increase in demand for a goods on equilibrium price?
(a) W@Iﬂﬁﬁﬁgﬁf@?ﬁ%l (Equilibrium Price increases.)
(b) W@ﬂﬁﬁmﬁgl (Equilibrium Price decreases.)
(c) W@ﬂﬁmﬁwgl (Equilibrium Price remains unchanged.)
(d) WWQWE’TW%I ((Equilibrium Price becomes Zero).)
15. TSR & Aler 3T T AT e 3ot gl &2 ST9-

When will the situation of excess demand rise? When-
(ab=5 (b) S>D
(c) D>S (d)D-S=0

16. YolTaTal 3rAeqae T & Hatl H ATl & 7 & hiet AT HUT T 7
Which of the following statement about capitalist economy?

(a) 3cUTCe o AT IR foAeir Tarfdca (Private ownership on factors of production)
(b) 34Ut WBZ‘?{QIFGIHWTUT (The objectives of production is human welfare)

(c) Wﬂqﬁmﬁq (Total interference of government)

(d) AT I TdT FT HI-TAhT THT oTal (There is no possibility of trade of services of labourers)
17. ATl TOIT ST Teh &0 H 2 o1 AT AT H Heldol § oTUT 10 TR AT i &l hl STHh

& oifareT 358 1o FAET FAST U1 TET & Y 227 & SASETRY Fir &7 a7 gefr?
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Let’s assume that in a country, there are 2 lakh people are employed and 10 thousand people are
willing to work but they don’t get any, then what will be the unemployment rate in the country?
(@) 2% (b) 10%
(c) 5% (d) 20%
18. ITATET T HTWT H T er ereg & &7 AT 82

What does the term Investment mean in the context of Economics?
(a) I AT I (Purchasing of shares)

(b) STHYST T ST (Purchasing of land)

(c) aﬁmzﬂmﬁﬁa@i‘rm (Spending the money in Insurance plan)

(d) t‘{\sﬂm d{-gdﬁa?{-cho af’ragj'#ir (An increment in stocks of capital goods)
19. 31T & ThIY YaTg & al &1Feh AlScl H e AATHT ol yaTg frd feem grarg?

In which direction the flow of factors’ services take place in two-sectors model of circular flow of

income?

(a) B § B T 3T (From firm to firm)
(b) IRAR T B I 31 ( From household to firm)
(c) IRER & gRER I 31 (From household to household)
(d) HH T IRER $r 3R (From firm to household)
20. TR EIRT AT T TS JE=IT 2Tt bt TR fle=oIf&ed 7 & fohey Tageaar o1 Uah o17eT g1l 2

The old aged pension paid by the government is the part of which of the following aggregates?
(a) GDP (b) GNP
(c) TI'@TFB-TIEF(NationaI Income) (d) 3TfFaeh 3T (Personal Income)
21. frafef@d # @ fafawa &1 v aaaeg AregA ST arg?
Which of the following is the universally accepted medium of exchange?
(a) ¥R (Cheque Book) (b) &Y (Bond-Paper)
(c) %FES'N—_C (Demand Draft) (d) Hal (Money)
22. STTST &T H g[8 T HGT hl Tend HIIT H AT FIT BIcAT 62
What is the effect of increment in rate of interest on cash demand for money?
(a) Hl T AT AT ﬁa@ﬁ%ﬁ?ﬁ% (Cash demand for money increases)
(b) Hel &I AheT HIIT H AT BT & 1 (Cash demand for money decreases)
(c) sgar@raa:&rﬁwmﬂaﬁam—cﬁ%(c%h demand for money remains unchanged)
(d) Hel T TR AT I3 ?»TE'IT—‘T% (Cash demand for money becomes zero)
23. JASHAEAT A FHGT I Il Sl TGT & T Ueh shoail Seh oh GART YA 9T {oia=T 3917 & | o=
el T JATT X G TET [dehed T T2+ HIfST|

following are the methods adopted by the central bank to increase the supply of money in an
economy. Choose the correct options by using following codes.

a. %E\Tﬁaﬂﬁ(Decrease in bank rate)
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b. fs{fat T fashr (Selling of securities)

c. aﬁwaﬂm?rﬁawfr( Decrease in reserve ratios)

(a)aandb (b) bandc
(c)aandc (d)a,bandc

24, AFATATRET # T ThE Y I HIITSIT FY Pl SATAT 6 ?

Which of the following is known as paper tax?
(a) 3ITIHYT (Income Tax) (b) IGEIEZ T (Corporation Tax)

(c) Hafr &Y (Wealth Tax) (d) FAT gleh (Custom Duty)
25. TF=1ff&@d 7 & TcT&T Y T Ueh 361607 hied AT 57

Which of the following is an example of direct tax?

(a) 3cHTce &Y (Excise Duty) (b) 3cHTE &Y (Output Tax)
(c) 1913 X (Corporation Tax) (d) §aT & (Service Tax)

26. afe 3T F ARG & IYRFAT FT 3T 7 3aRafdd Edr ¢ ar 57 FFafa & Mpc &1 &1 a1
gram?

If the consumption expenditure of consumers remains unchanged due to change in income, then
what will be the value of MPC?

(a)1 ¥ (Greater than 1) (b) 1

(c) 0 (d) O & 4 (Less than 0)
27. [AFT H O HI AT T Teh T o6l &-

Which of the following is not a component of aggregate demand?

(a) 3UHET SIT (consumption expenditure)

(b) IGENEZE] (Investment Expenditure)
(c) GECAGRIG (Net Export)
(d) T aRGU AT 9T eI (Expenditure on financial assets)
28. ool 13T F IR Eclal AT T T H TR T 3dTel FAT FHEollell 82

What the ratio of change in autonomous investment and change in total output is called?

(a) @Wﬁﬂ%%ﬁ (Marginal propensity to consume)

(b) W@T}T\W%ﬁ (Average propensity to save)

(c) I0Th (Multiplier)

(d) ?ﬁmﬁraﬂwqaﬁr (Average propensity to consume)
29. fageh fafaAT e Fam §?

What is foreign exchange rate?
(a) aﬁﬁaﬁrﬁaﬁm (Price of goods in term of goods)

(b) a@@ragarﬁaﬁlﬂa (Price of goods in terms of money)
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(c) agara%rai——grﬁraﬁma (Price of money in terms of goods)
(d) mﬁﬂaﬁﬁ?@ﬁﬁaﬁm (Price of domestic currency in terms of foreign currency)
30. FET3HT T RT3 o IRTSE oeT-eT o HoTol Y T gl STl 62

What is the balance of international transactions of goods and services called?
(a) WH@W (Market equilibrium) (b) EqﬁﬂTclTﬁ?laTvl?—T(Consumer's equilibrium

(c) IR H@W (Balance of trade) (d) HITATA {-igloio-l(BaIance of payments)

T-CTET 2= (2 37h1)
Very short type Question (2 marks)
frafafaa 7 & gl & Teat & 3R GIS0|
Answer any six from the following questions.

31. 3798 JIRTd, 3cUTcsT THTIT deh bl vl THITAT hial 87
How does opportunity cost affect production possibility curve?
32. ‘3YHIFAT T AT THISSE GIAT |’ 3 HUA H FAT AT 67

‘Consumer’s preference is monotonic.” What does this statement mean?

33. Tfe; Tonell & ohT ShIFT H 5% T el Hlel T 3HHT AT HTAT H 8% T Je e g1 STTcil & ol aE] T
HAiaT HY HrAd AT A9 AT

If quantity demanded of a goods increases by 8% due to fall in price by 5%, then calculate the price
elasticity of demand.

34. HIATH oI1eTd 3R 39T oIeTd & aR&ATNg HIfST|
Define the terms marginal cost and Average cost.
35. HATSE 3emET T TS & HIcTaEAT & IR 813! & 1A faf@u|
According to Macroeconomics what are the four sectors of an economy?
36. ITHTT AT A BfSca [FFAT & Pl IR arvat & faf@e)
Write any four means of digital transactions at present time.
37. Goll 3eTaedT A 319 -1 THSAA &2
What do you mean by an open economy?

38. TN Folc & IRNT Hifaw

Define Government Budget.

ST 92 (3 37eh1)
Short answer type questions (3 marks)
frfoiaa &7 & fhedl &: T2al & 3R faf@u|

Answer any six from the following questions.
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39. WA STRNAAT fordy Tzt &2 Yanfa & wase S & S BrArd 3uifarar o g1l § a9 e
3T 3HTeRAH gl 5 |

What is marginal utility? Illustrate with diagram that Total utility is maximum when marginal utility
is zero.

40. ITE Teh BH &1 3G Belel Q = LOSKOS §1 AT HHA(L) T 36 TUT YT (K) T 49 Fehr1S & foidlistet
A g&] 1 forcTalt gonTs 1 TTRhIH ScuTe=T Toa &?

If the production function of a firm is Q = LO°K%>. then what will be the possible maximum
output by employment of 36 units of labour(L) and 49 units of capital (K)?

41. STSTR HJolel T 3T FAT FHSIA &2 [T @ TI5€ RIS
What do mean by market equilibrium? Illustrate with diagram.
42. TordY T I qfict T FenTacT et aTel foheel ciiel shIehl shl AT ST |
Explain any three factors affecting the supply of a goods.
43. Hehol BC] 3¢UTG oh! IRHATVA HITT| Tg Hehol TS 3cUTE H Tohd FehR He T8I &7
Define Gross Domestic Product. How it is related to Gross National Product?
44, ‘3Tl o Sg AT I THEAT T Fel fha ThR &I Fcll 82 381601 J TISC RIFSAT|
How does money solve the problem of ‘Double coincidence of wants? lllustrate with an example?
45. TIHRT T1C & 386231 H Ieold HITAT|

Describe the objectives of Government budget.

46. I 3ATTTAT H TATIT I (TIATTT 3THIT Ug TR [AA2) (A) 40 TS TIY, 3THTIT hr AT
UgT 0.6 TUT 3T (Y) T FA 1000 S TG § AT FHI HIIT el AVTAT SHlToTT| &A1 HFeqaedm
HJolel H §? TISC HITIT|
If the autonomous expenditure (autonomous and autonomous investment) (A), marginal

propensity to consume (MPC) and the Level of income(Y) are %40 crore, 0.6 and X1000 crore
respectively. Calculate the value of aggregate demand. Is economy in equilibrium? Explain.

SrE3aIT 9T (5 37hr)
Long answer type questions. (5 Marks)

FAfaa 7 & foheg! I 92T & 3T SIT|

Answer any four from the following questions.

47. AT T HIHAT A I IRHATVA HITSAT| AT T HIAT AT B (a) TATEUTTR T hl STASEAT
T (b) TEJ & dehiodeh T, fohd FehR T81Tfad hd 8?2 Tuse RSV

Define Price elasticity of demand? How (a) availability of substitutes of a goods and (b) alternative
use of goods, affect the price elasticity of demand? Explain.

48. AT T Ffdhel T 3T FIT THST 5?2 Ueh 3GI8I0T U TASE HITAT foh Teh 3cUTGe Helel AT hl
TEUR wfcithel AT YATE 7 THATT TTABel Y el HISC Il 672

What do you mean by returns to scale? When does a production function show constant returns to
scale and increasing returns to scale? Illustrate with examples.
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49. ATl eNTNT Teh ST H &l H & | A 1 &1 i 5 5,= -3 + P (P> 3) =0 (P< 3)

AT B2 FHT G T S,=-10 + 2P (P> 5) =0 (P< 5) AT AR Yfcl deh AT HIfIT|

Let us assume there are two firms in a market. The supply curve of firm-1is §;=-3 +P (P> 3)
=0 (P< 3) and The supply curve of Firm-2 is S,=-10+ 2P (P> 5) =0 (P< 5), then find the

market supply curve?

50. FAT GDP heTUT &l Feh §? TS HITiT |
Is GDP an indicator of welfare? Explain.

51. JHIT AT T 3T FIAT FHSTA & ? THI AT & [T et Hir sarear fifsw|
What do you mean by aggregate demand? Explain its various components.

52. ST Soh FTTTEAT H 1@ W AIT0T fon g Yant shear &2 sarear Hifav|

How does central bank control over credit in an economy? Explain.
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Answer of MCQ

T 9061 3
1 16
2 17
3 18
4 19
5 20
6 21
7 22
8 23
9 24
10 25
11 26
12 27
13 28
14 29
15 30
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